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Part - 111
COMPUTER APPLICATION (COMMERCE)

Maximum : 60 Scores
Time : 2 Hours

Cool off time : 15 Minutes

K General Instructions to Candidates : \

afleyodmale: @688 ealom) MACGUEB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.
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Answer all questions from 1 to 5.

Each carry one score.

1. The number of symbols used in

a number system is called ........

2. Pictorial representation of an

algorithm is known as .........

3. What is the escape sequence
character for new line in C++

program?

4. The starting symbol of a
preprocessor directive

statement 1s .........

5. Write the full form of MAC.

Answer any nine questions

from 6 to 16. Each carries two

(9 x 2 =18)

scores.

6. What is the importance of
registers in computer system?

Name any two registers.

7. What do you mean by
humanware? Give any two

examples.
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10.

11.

12.

13.

14.

Explain any two limitations of

flow chart.

Differentiate between character

literal and string literal.

What is the use of comments in
a program? List out two ways to
in C++

include comments

program.

List out type modifiers in C++.

Assume that recently your
school computer lab 1is
networked. List any four
advantages you can experienced
when using networked
computers instead of stand

alone computers.

Name the major parts of an

optical fibre cable.

"Servers have much importance
in a client server network".
Write the importance and list
any two classifications of

servers.

K-51

10.

11.

12.

13.

14.

FY 46

afB80 21005160 age®meslelo o6nE

B loEOWEBW QANOUE]B6))E:.

mislowd elgoelo 00850 ellgoeno

OoENSs QA@IOMO ag)PIBE:.

80 GaIO(WONId  HOMPIHBINS
8aleomo ag)m? C++ elalowoalad
HAPHD ORBORISIOMOIOMBR O6NE

BlSNBD  ag)LI®)bs.

C++ -® palcwonlenyam eesq]

CQOWIOHANBRDNVIB:UID ag)PIBIbs.

mowles mlaBges  Mdaleel
doalysd ol emgIdes) 6.01®m)
ag)m qVE@aflond. ag)@l@d e8geals
ML Br0alS0IHO8 @G o]
eMEUBH00] enimuflafle) Hoalysd
HaIGWOMIHNIBMUID  HENSI LM

a@e@sIRl0 MO BMSETBUWD af) LIS,

BalSlen® eeanenid somenilglon

(0 1UOM BOWETBRD QG)FIBH:.

‘GO mdad moallwomomld
MAUOYBRBHS UgOO  BRWl0
(1oWomyo oeng.” qAUOYBHBIOS
(OWOMIOEMEO12) g Py

MAUNHRIOS oo ®ssleljo 6N

@B ag)PIm)bs.

Turn Over



15. E-mail is a popular
communication tool. Discuss any

two advantages of E-mail.

16. Write any two challenges for

implementing e-Governance.

Answer any nine questions from

17 to 27. Each carries three

scores. 9 %x3=27)

17. Explain any three freedom
designed by FSF for softwares.

18. As a student, explain any three
approaches that you can adopt

to promote 'Green Computing'.

19. Differentiate between Entry
Controlled Loop and Exit
Controlled Loop.

20. Write an algorithm to find the

biggest of two numbers.

21. What is statements? Explain
any two types of statements

in C++.
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22.

23.

24.

25.

a) What is constant?

b) Write the keyword for

constant declaration in C++.

c¢) Give an example.

Explain the different types of

logical operators.

Consider the following code.
int 1=1;
for(; ;)

{

cout<<i<<'"\n"'

}

a) Find the output.

b) Rewrite the code by using
while loop with 1<=10 and
i=i+2 in appropriate place

for successful code execution.

a) Define Network Topology.

b) Compare Ring Topology
with Star Topology.

K-51

22.

23.

24.

25.

FY 46

a) Constant ogmo@ ag)om?

b) Constant algwd eoiguaiomd
C++ @ sarcwonlenym

SIBAUAW ag)PI®)bs.
C) 80} HB2aNV6MO af)PIBb

aflaflwmee 6eloZlen® B8 e0R0)

6889012] Alvodle:@le6)d:.

21AUOS ©BHISIOMIB]LHIM  BBHOW

@O B6)).
int i=1;
for(; ;)

{

cout<<i<<'"\n"'

}
a) 893a1)S Henallslen)ss.

b) anelcicmow 8lalo(onlem
laudoemmesimoe] 1<=10 &o
1I=1+2 90 EDAUINYMOW MOLIGTY
ones008alal’ while loop

806U o 500 MOFIng)PI®)H:.

a) emQades €S06q 08|

MR 166 8.

b) olems’ esosqogxlwio @O

€S0Gq 08 W)o MOAAY0 O2IQYH:.

Turn Over



26. Your friend wants to take an
internet connection. Explain and
compare any three types of
broadband connectivity

available now-a-days.

27. e-Learning playing an important
role in education field. Discuss
three

any advantages of

e-Learning.

Answer any two questions
from 28 to 30. Each carries five

scores.

28. a) List down the functional
units of a computer by using

a diagram.
b) What are the advantages and

limitations of a computer?

29. a) What is operator? Classify
the operators based on
number of operands.

b) Find the output of the
following operations if x=—11
and y=3.
x4y
i) X % -y
i) x % —11
) (x>y) && (x<y)

v) | (x<y)

Vi) X *y
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